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{%%%H [Z] R2.93 | R2.123 | R334 | R2.4.16 | R2514 | R26.11 R2.8.13 | R2.9.10 | R2.10.15 | R2.11.12 | R2.12.10 | R3.1.14 | R32.18 | R3.34 ;gm%ﬁ [E]
FIKEFZ] 10:10 10:00 9:35 9:52 9:44 10:09 10:02 10:23 9:42 9 11:04 9:15 9:34 9:48 R /KEFZ
ESH Eh ZY EEh BEh BEh Eh Eh Eh IS5 55l Eh Eh Eh S
im (°C) 31.8 85 8.9 14.5 248 28.1 3238 326 17.1 11.2 9.4 5.9 5.7 10.0 [0 (C) 26.6
KE (C) 28.1 13.6 11.3 14.5 18.0 21.0 25.1 27.6 21.0 18.0 15.2 10.5 10.6 11.8 Kim (°C) 16.1
1[—ARHAET 100fELLF 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1]1,3->20070~>(D-D) | 0.05 R A <0.0001
AbNTEE BEhinCs Tiath| TEH| el | B | BEC) | BEC) PR (=) | B | BBt | B (o) | BE() [ BHEC) | B | BiE(-) 2[2,2-DPA (5 5 ») 0.08 IREA <0.002
3|HRIVLRUVZDILEY 0.003LA | <0.0003] <0.0003] <0.0003] <0.0003 <0.0003 3[2,4-D(2,4-PA) 0.02 B <0.0002
4 KEBRUVZDILEY 0.00054 | <0.00005] <0.00005| <0.00005| <0.00005 <0.00005 4|EPN 0.004 & RF| <0.00005
5LV RUZDIEEY 001LLF]  <0.001 <0.001 <0.001 <0.001 <0.001 5[MCPA 0.005 EEx] <0.0001
6|SRUVZDILEY 0.01LF <0.001 <0.001 <0.001 <0.001 <0.001 67> a5 L 0.9 BREF <0.002
1ERRUVZDILLEY 0.01UTF <0.001 <0.001 <0.001 <0.001 <0.001 1|7t7—F 0.006 - REA <0.0002
| 8| AMlyOLILEY 0.02F <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 8|7RSTY 0.01 BREF <0.0001
MRETTEEES 004 TF|  <0004] <0004 <0.004] <0.004 <0.004 9[7=mk’R 0.003 R <0.00005
10| TALMAA RUIEILS TV 0.01UTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 10[73RS X 0.006 EES <0.00015
N |EREERRUEEREESR 10LLF 0.48 0.47 0.74 0.86 0.26 1[7528—)L 0.03 EEx] <0.0003
12[7yRRUVZDIEEY 08U T 0.08 0.09 0.09 0.09 0.08 12[4VF5F4> 0.005 & RF| <0.00005
BIFSREVEZDLLEY 1.0LLF <0.1 <0.1 <0.1 <0.1 0.03 [HEDEEZ 0.001 BEA <0.00004
AR A5ES 0.002L | <0.0002| <0.0002| <0.0002] <0.0002 <0.0002 14|47 BHLT (MIPC) 0.01 EES <0.0001
15[14-CAFH> 0.05LLF]  <0.005] <0.005] <0.005] <0.005 <0.005 15(4YFaF45> (PT) 03 | %&b -BE-EHREARA <0.003
16| 2L IEnT T LB 00451 F| <0004| <0.004| <0.004| <0004 <0.001 164 7BRUKR (1BP) 009 s 00009
17[C5n0A8y 0.02LLF]  <0.002] <0.002] <0.002]  <0.002 <0.001 17[4375852 0.006 R REA <0.001
18[FrSHORATFLY 001LLF]  <0.001 <0.001 <0.001 <0.001 <0.0005 18[15/97> 0.009 EEx] <0.00009

# | 19[kUyDOIFLY 001LLF]  <0.001 <0.001 <0.001 <0.001 <0.001 19[TRTOALT 0.03 R EH <0.0003
20[R FY 001F]  <0.001 <0.001 <0.001 <0.001 <0.001 20]Tho>FTOvHR 0.08 Bk EA <0.0008
IEES 0.6LLTF 0.06 0.06 <0.06 <0.06 <0.05 0.06 <0.05 <0.05 21| TR T7Fo (Y IEY) | 001 FER ] <0.0001
22|/ O OEEEE 0.02LLF]  <0002] <0002] <0002] <0.002 <0.002 <0.002 <0.002 <0.002 2[AFHTHnrRy 0.02 B <0.0002

P WEIVI=I=E TN 0.06 A 0.017 0.013 0.008 0.009 0.015 0.019 0.011 0.008 234 ¥ SR HEER) 0.03 R REA <0.0005
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257 BEH/O0IY 01T 0.006 0.006 0.004 0.004 0.007 0.008 0.006 0.006 25| hXHHRR 0.0006 & RF <0.00004

EHEESH 0.01LLF <0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 26| h7T RRE—L 0.008 B BREA <0.00008
| 27[#8kU/N\OXE 01T 0.033 0.029 0.019 0.020 0.033 0.040 0.027 0.022 27| AhnByT 0.08 BR-BE - REA -

N B[OV EE ) 0.03LLF]  <0.003] <0.003] <0.003] <0.003 <0.002 <0.002 <0.002 <0.002 28] AL 73 JL(NAC) 0.02 R A <0.0002
29|JOES/O0A3Y 0.03UF 0.008 0.008 0.006 0.006 0.010 0.011 0.009 0.007 29| hLKRISY 0.005 R <0.0001
30[JAERILL 0.09LLF 0.002 0.002 0.001 0.001 0.001 0.002 0.001 0.001 30[*¥ /9552 (ACN) 0.005 EEx] <0.00005
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33| FIS=DLRUZDILEY 0.2LLF 0.02 0.02 <0.01 0.02 <0.02 33| Tk —k 2 BB <0.02

| 34 |BRUVZDILEEY 03T <0.03 <0.03 <0.03 <0.03 <0.03 34| RS F—h 0.02 BB YRk S -
35|SARUVZDILEY 1.0LLF <0.01 <0.01 <0.01 <0.01 <0.01 35|70470yF 0.02 TREA <0.0002
36|V LRUZDIEEY 200LLF 24.4 30.7 27.3 20.4 26.5 36|70)L=FO7I> (CNP) 0.0001 FREE A <0.0001
37|RVHVRUZDILEY 0.054TF]  <0.001 <0.001 <0.001 <0.001 <0.005 37|ZBLEYERR 0.003 & RF <0.00005
38[iE A4 200LLF 16.0 19.5 16.5 15.2 183 16.0 18.6 18.0 16.9 18.3 13.4 14.4 16.4 16.3 15.6 15.3 38[/O0&0=)L(TPN) 0.05 R EA <0.0005
39[ AL, T ILE FEE) 300LLF 91 115 123 102 104 102 107 113 9[> TFOY 0.001 FREE <0.00005
| 40| ZRFTZEY 500LLF 240 260 250 200 210 220 209 221 40[> 7 /TRR (CYAP) 0.003 R A <0.00004
a1 |BAA L REmEEH] 02LTF <0.02 <0.02 <0.02 <0.02 <0.02 41> (DCMU) 0.02 TREA <0.0002
2[RI 0.00001 L | <0.000001 | <0.000001 [ <0.000001] <0.000001 <0.000001] <0.000001] <0.000001 42|20 ~=)L (DBN) 0.03 B B <0.0001
43[2-AF I AVYRIL KA —IL 0.00001 14| <0.000001{ <0.000001[ <0.000001] <0.000001 <0.000001 [ <0.000001] <0.000001 43|25 0JLARZ (DDVP) 0.008 R <0.00008
44| AA L REEHEH] 0.02LLF]  <0.005] <0.005] <0.005] <0.005 <0.002 44|79k 0.01 Bz <0.001
45|71 /—)LEE 0.00554 | <0.0005] <0.0005] <0.0005| <0.0005 <0.0005 45| S ZIVRRATFLFAAY) 0.004 & RF <0.00004

46 | H#MFTOC) LT 0.8 0.6 0.5 0.9 0.7 0.8 0.8 0.9 0.7 0.8 1.0 0.7 0.6 0.6 1.0 0.9 46| SFA RN NA—FFREE | 0005 R EA -
47|pH{E 581 F86LLT 7.6 7.6 75 75 7.7 7.6 7.8 78 7.9 7.8 7.7 7.6 75 7.6 76 75 47|SFAE L 0.009 REH <0.00009
| 48[k BEThLNCE| BEEUL] ERgl] BEEgl] BEal] BEE4L] EEgL] BE4l] BEAL] EE4L] EE4L] EEgL] EEgl] BEE4l] BEAL] EE4L] EELL » [ 28[oNERyTTFIL 0.006 IREA <0.00006
| 49[RR BEETAVNCE] BEEAGL| BREAL| BEA4L] BEAUL] EE4L] BEE4L] BEUL] EE4L| EEAL] EEAL] BEUL| BEEAL| EE4L| EEAL] BRG] BEEUL = | 492 =T (CAT) 0.003 REH <0.00004
| 50| S5ELLT < < i i i <1 <1 4l 4l <1 4l 4l 4l 4l <1 <1 50O AFARYY 0.02 BREH <0.0002
51[RE 2ELLT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 51[CART—F 0.05 & R <0.0005
_ E | s2[o ARy 0.03 BREH <0.0003
B 128 (mg/L) 53| CAERL—F HIRR BRE A <0.00004
1ZUFEVRUVZDILED 0.02LLF| <0.0015] <0.0015] <0.0015] <0.0015 54| 54T/ 0.003 B EA <0.00004
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| 9[DALEED 2-TFIAEIIL) 0.08LLTF|] <0.008] <0.008] <0.008] <0.008 62| T 7UILRIAY 0.002 IREH <0.0001

& | 10| FEIERE 0.6LLF <0.06 <0.06 <0.06 <0.06 63| TILTHJLT (MBPMC) 0.02 FREH <0.0002
1R & 64[F)HOE L 0.006 IREH <0.003

m | 12| -BLiER 06T - - - - 65[~)&0 )Lk (DEP) 0.005 B RFH| <0.00005
13[5na7Eh=kJJL 0.01ATF(*2)|  <0.001 <0.001 <0.001 <0.001 <0.001 66[F)S OS5V —)L 0.1 | %k -BE-EHREREA <0.001

g |alEksnsS—n 002 FG2)|  <0.002[  <0.002|  <0.002]  <0.002 0.001 67[FJTILSYY 0.06 B <0.0006

EHEES 1L <0.01 - - - 68|70/ \SF 0.03 A <0.0003
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_ 18| AV RUVZDILEY 0.01UTF <0.001 <0.001 <0.001 <0.001 <0.005 NESYA=)L 0.01 BREH <0.001

& | 19| A 20LLF 4 7 12 11 12[E5V*% 7z 0.004 IREH <0.00004
20[1,1,1-FY PO T A 03T <0.03 <0.03 <0.03 <0.03 73[ESVUR—NET/ V=D 0.02 ] <0.0002

& |21 [*FLt-TFILIT—F L (MTBE) 0.02LLF]  <0.002] <0.002] <0.002] <0.002 74|EUF I FAY 0.002 R A <0.00005
22| HHME (KMnO4HEE) (* 3) 3LLF - - - - 0 0 0 0 0 0 1.0 0.7 0.6 0.6 1.0 0.9 15|EVTFHILT 0.002 FREH <0.0002

1B | 23[R&5&RE(TON) 3UT < < < < < 76|Eoxoy 0.05 BR-SREH <0.0004

| 24[RRTZEY 30~200LLF 240 260 250 200 210 220 209 221 77|7470=)L 0.0005 B EA <0.000025

B L2508 1EUT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 78|7z=FEF 4> (MEP) 001 | Hh-BE-EHREAZH | <0.00004
26|pH{E 7558 7.6 7.6 75 75 0 0.0 0.0 0.0 0.0 0.0 7.7 7.6 75 7.6 7.6 75 79[2x/7 5L T (BPMC) 0.03 B EA <0.0003

| 271|BEH G TIER) —1~0 - 06 - 04 - 06 - 07 - 0.1 807U LY 0.05 - EA <0.001
28|t K FEME (HPC) 20001 0 0 0 0 1 817> F A~ (MPP) 0.006 B RA <0.0006
29[11->HO0nTFLY 01T <0.01 <0.01 <0.01 <0.01 <0.001 82|z FIT—F(PAP) 0.007 B E A <0.00007
30|ZIS= LRUZDILEY 01LLTF 0.02 0.02 <0.01 0.02 <0.02 83| 7T FSHER 0.01 3] <0.0001
31[PFOSRUPFOA(* 4) 0.00005 1 F(*2) - = = = 0.000006 84|7H54F 0.1 oo SEA <0.001
* 1 TERKEREEFKSHEODRERREER 85(J440—)L 0.03 BRER <0.0003
*2. W 86|J #IKR 0.02 3] <0.0002
* 3: HHEIEE #46(TOC)TH A 87|7707xzoy 0.02 B E A <0.0002
* 4:PFOS (RLTILAAF 98 R LR B RUPFOA(RILI LA OF 55 B) 8817 TIF L 0.03 B <0.0003
89|FLFS5Ha—IL 0.05 B B <0.0005
90|70y 3Ry 0.09 BEH <0.0009

91| FOFAERR 0.007 HRHF -
92|FaEaFI— 0.05 | <0.0005
93|7aEHYSK 0.05 BB <0.0005
94|FaRFY—)L 0.03 - EA <0.0003
95|JOEIFF 0.1 B REA <0.001
96[~/3 )L 0.02 | <0.0002
97|Ro oy 0.1 B E A <0.001
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